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2006 4 11,12,13
(
8 20m
5m 4.2 8.0 32.96 33.96 (20m) 3.9 7.9
33.20 34.00 2m 4.4 7.9 33.36 34.02
3.5 4.0 St.2 1.8 St.6,A 0.4 0.5
0.6 1.2
0.56 1.01 10m 0.25 0.51 St.A,B St.1
0.3
9.4 10.3mg/e ( 93 103%)
St.2,3
St.4 6 20m 4 33.2
( 3 7,9
m 4 8m
St.1  30m -0.2 -0.6 St.B  Om -0.8
+0.2 +3.0 St.A St.2,4,6
1
St.A 40m St.2 4 ( +0.12 +0.36)
+0.06 -0.47 St.5 Om
-1.4 +0.1mg/@
( ( 1972 2005 St.1 6 )
(St.1 6) +4  +7m
St.2  30m ( -0.4 +0.8 ) St.3 5
( -1.5 -0.8 ) ( -2.5 -1.6 )
St.1  30,40m ( -0.22 -0.30) St.2 (

+0.10) ( -0.35 +0.12)



2006 4
1 2 3 4 5 6 A B
N 40 56.5*| 41 03.17| 41 03.67| 41 04.17| 41 07.87| 40 5.087| 41 10.67| 41 10.6~
E 140 46.0“] 140 45.97] 140 53.47] 141 02.97] 140 59.27] 141 06.57] 140 41.07)140 43.5~
(m) 47.0 53.0 52.0 47.0 40.0 39.0 58.0 69.0
2006. 4.11(2006. 4.12|2006. 4.13 |2006. 4.13 |2006. 4.13 {2006. 4.13 {2006. 4.13 |2006. 4.12
7:30 9:35 7:45 10:05 8:47 11:06 10:43 11:20
c 0 R 0 0 0 0 R
9 10 10 10 10 10 10 10
(0 5.5 7.7 6.6 6.3 6.5 6.8 8.8 8.0
(hPa) 1020.5 | 1008.0 | 1010.0 1011 1010.5 1011 1007.0 | 1007.0
NE2 0 s3 E2 s1 NNE1 s1 0
1 1 2 1 1 1 1 1
5 5 5 4 4 3 6 6
(m) 16.0 19.0 19.0 20.0 20.0 18.0 8.0 9.0
0m 5.30 5.50 5.20 4.40 4.90 4.40 8.30 6.80
m 5.21 5.15 4.99 4.23 4.27 4.36 7.95 7.60
10 m 5.25 5.17 4.69 4.21 4.09 4.28 7.96 7.96
20 m 4.98 5.18 4.52 4.06 3.95 3.01 7.93 7.88
30 m 4.73 6.45 4.63 4.03 4.29 4.13 8.01 7.89
40 m 4.97 6.76 4.93 4.51 7.92 7.87
50 m 7.91 7.73
5.27 6.98 5.21 4.73 4.71 4.35 7.89 7.82
Om| 33.338| 33.343| 33.276| 33.181| 32.956| 32.972| 33.734| 33.772
m|  33.337| 33.370| 33.293| 33.185| 33.058| 32.963| 33.961| 33.849
10 m|  33.352| 33.375| 33.299| 33.187| 33.126| 32.961| 33.969| 33.963
20 m| 33.341| 33.395| 33.283| 33.222| 33.199| 33.212| 33.979| 33.999
30 m| 33.413| 33.746| 33.393| 33.258| 33.307| 33.282| 33.990| 34.006
40 m|  33.546| 33.818 33.480| 33.437 34.000|  34.000
50 m 34.005 33.995
33.617| 33.853| 33.619| 33.511| 33.456| 33.355| 34.004| 34.019
5m 10.01 9.90
98.09 94.75
( :mg/L) 20 m 10.18 10.12 10.17 10.25 10.18 10.27
« - ) 99.33 99.25 98.35 97.71 96.77 97.53
9.44 9.96 9.54 9.82 9.64 10.11
92.92|  102.25 93.77 95.34 93.51 97.15
(m 45 51 50 45 38 37 56 67
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